CIIIHRETE BEE

# S|E & TITE4 % IS B4 s | Hif > 2| B =
1 ESRETE
B4 15 W=600 A, T m | 435
BN B BEAR H=1800~ 2000 m 60
=R (3L Ay, ay—h m | 306
JIVANYr—F H=1800_t & —hBh m 30
& TRALEHR 2BE 7 3yMIvty—b m | 152
RS #16.9£6.583.783 pasil 4
FIEEE B RIS 3~4F% Pasil 4
Z8 W=5400 Al 2
e = 1
B HEMRE = 1




# =5|1E & IE% % S B4 #=| Hif > %8 | B &
2 QEE-EmBETE

REE m | 405
AT T #h AL m | 405
BUOUEINEE IR 3VBHEEA = 1
B - BAEIN VR RCH = 1
NEESE S m | 405
BEEEME m | 405
AR GRENVIA-BRERE ) = 1
BRZE C917

T ALEE YOOV BERES VA m | 378
BIRTAIZMVVIVE BYBZ HEN-24V9SPYYY Vh7—2EZ% | m [ 378
NTYZy) R ITA7ATVAE m 54
PN IE X K2 Bk E g = 1

IN E




Z 5B & IE% £ LS Bi (s Bl | £ 48 | § &
3 JEIREEmEE B
HiRE = 1

I F




Z 5B & IE4 £ B EXME S ERT > 2B | B &
4 A BENFERE

=fri- RESERKE

K-1 B SRR E = 1
K-2 BRI tREFEE = 1
K-3 B SR EE = 1
K-4 F7Fzvy P74 -/ ARISE = 1
K-5 FZFzvs F790-¥-Z#/HBIE = 1
K-6 F7Fzvy F7y0—4"-3Z# /RIS = 1
K-7 BEARE/FHE/7v)1-yt BFAXER//AEISE = 1
K-8 HEBmtRIAEE = 1
K-9 F7Fzvy P74 -/ ARISE = 1
K-10 K7 Fzvy 74 -/ RABIE = 1
K-11 £E Rt E = 1
K-12 £ E R E = 1
K-13 B E/F&E/7v)1-yt BREEXRH//ABRIE = 1
K-14 £E R R E = 1
K-15 BRAZE/FE/7w/1-9VFEI1 L BRAEEXR//AEITSE = 1
K-16 BEAZE/FE/7v91-vr BFREEXH//GAEIE = 1
K-17 BEAEE/FE/79)1-9F EFEf? §Ei#ﬁ /RIS = 1
K-18 HREAEE/FE/w1-9VFHEI1L BRAEEXRK//AEISE = 1
K-19 BEAEE/FE/7v91-yr BFREEXH//GAEIE = 1
K-20 BFA¥E/FE/7v/1-yr BEREEXB//HEISE = 1




E S|1E & IE4 % Fp S B4 #=| Hif & 2 | B &
5 5|ZRTE
KEFITIV 2.2KW AEREY7 = 6
LEEGE = 6
BENLSE = 6

I g




' S|H & TE4 B 5 RIS B | %E| Bffi | & 8 | 8 &
6 6|ENHIE FEE
EEE = 1

I\ =




